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NO, 0+227.9  ~ NO, 0+269.8
ND 0+83 3 ~ NO 0+105 3 (T4)



I TEHEHER(EIRELOES)

B\ B 3 * v (#EL) THEE Vo) —rBRETL IR
AR i 4 ¥ @ T E KH(m3) BB ) FHERE KT (m3) i 4 TRER TR EHi(m2) i 4 =1 EHE(m2) EER EH(m2) ER TR EHi(m2)
NO,0(BC.1) 0.00 0.10 005 0.00 0.00 0.10 0.05 0.00 0.00 0.00 0.00 0.00 0.00 363 0.00 0.00 0.00 0.00 0.00 0.00
MC.1 11.30 050 030 339 11.30 0.30 0.20 226 11.30 0.00 0.00 0.00 11.30 375 41.70 0.00 0.00 0.00 0.00 0.00
EC.1 11.30 9.00 475 53.68 11.30 0.00 0.15 1.70 11.30 0.00 0.00 0.00 11.30 363 41.70 0.00 0.00 0.00 0.00 0.00
+30.7 8.10 18.30 13.65 11057 8.10 0.00 0.00 0.00 8.10 0.40 0.20 1.62 8.10 3.00 26.89 0.00 0.00 0.00 0.00 0.00
+46.2 15.50 29.60 23.95 371.23 15.50 0.00 0.00 0.00 15.50 1.60 1.00 15.50 15.50 3.00 46.50 0.00 0.00 0.00 0.00 0.00
+64.8 18.60 54.30 41.95 780.27 18.60 0.00 0.00 0.00 18.60 430 2.95 54.87 18.60 3.00 55.80 0.00 0.00 0.00 0.00 0.00
BC.2 9.20 73.10 63.70 586.04 9.20 0.00 0.00 0.00 9.20 5.90 5.10 46.92 9.20 321 28.61 0.00 0.00 0.00 0.00 0.00
MC.2 11.10 104.40 88.75 985.13 13.00 0.00 0.00 0.00 15.10 7.90 6.90 104.19 13.00 325 41.99 0.00 0.00 0.00 0.00 0.00
EC.2 11.40 129.10 11675 1,330.95 13.00 0.00 0.00 0.00 17.20 10.30 9.10 156.52 13.00 321 41.99 0.00 0.00 0.00 0.00 0.00
BC3 7.00 82.20 105.65 739.55 7.00 0.00 0.00 0.00 7.00 7.70 9.00 63.00 7.00 34 2317 0.00 0.00 0.00 0.00 0.00
BC3' 0.00 77.70 79.95 0.00 0.00 0.00 0.00 0.00 0.00 7.70 7.70 0.00 0.00 34 0.00 0.00 0.00 0.00 0.00 0.00
MC.3 6.10 42.40 60.05 366.31 8.60 0.00 0.00 0.00 10.40 3.40 5.55 57.72 8.60 350 29.76 0.00 0.00 0.00 0.00 0.00
EBC3.4 7.70 0.30 21.35 164.40 8.30 0.70 035 291 9.80 0.00 1.70 16.66 8.60 34 29.76 0.00 0.00 0.00 0.00 0.00
MC.4 10.30 0.10 020 2.06 10.30 1.20 095 9.79 10.30 0.00 0.00 0.00 10.30 325 34.30 0.00 0.00 0.00 0.00 0.00
EBCA45 10.30 0.00 005 052 10.30 3.20 2.20 22,66 10.30 0.00 0.00 0.00 10.30 34 34.30 0.00 0.00 0.00 0.00 0.00
MC.5 12.40 0.00 0.00 0.00 12.40 10.90 7.05 87.42 12.40 0.00 0.00 0.00 12.40 350 42.90 470 29.14 0.00 0.00 0.00
EC5 12.40 0.00 0.00 0.00 12.40 16.30 13.60 168.64 12.40 0.00 0.00 0.00 12.40 3.40 42.78 6.90 71.92 0.00 0.00 0.00
+173.0 3.40 186.30 93.15 31671 3.40 14.00 15.15 51.51 3.40 12.40 6.20 21.08 340 3.06 10.98 400 1853 47.60 23.80 80.92
nE 166.10 5:810.81 172.70 346.89 538.08 573.13 119.59 80.92
+173.0 0.00 186.30 93.15 0.00 0.00 14.00 7.00 0.00 0.00 12.40 6.20 0.00 0.00 4.00 0.00 47.60 23.80 0.00
+194.7 21.70 338.10 262.20 5,689.74 21.70 0.00 7.00 151.90 21.70 19.30 15.85 343.95 21.70 0.00 43.40 63.80 55.70 1,208.69
+212.7 18.00 295.30 316.70 5,700.60 18.00 0.00 0.00 0.00 18.00 23.20 21.25 382.50 18.00 0.00 0.00 41.60 52.70 948.60
+227.7 15.00 250.90 273.10 4,096.50 15.00 0.00 0.00 0.00 15.00 28.00 25.60 384.00 15.00 0.00 0.00 32.50 37.05 555.75
+246.7 19.00 143.20 197.05 374395 19.00 0.00 0.00 0.00 19.00 3090 29.45 559.55 19.00 0.00 0.00 21.30 26.90 511.10
+269.6 22,90 10.30 76.75 1,757.58 22.90 0.00 0.00 0.00 22.90 460 17.75 406.48 22.90 0.00 0.00 0.00 1065 243.89
nE 20,988.37 151.90 2,076.48 4340 3,468.03
X% NO,0 0.00 0.00 4.30 2.15 0.00 0.00 0.00 0.00 0.00 0.00 234 0.00 1.80 0.00 0.00 0.00 0.00
+15.8 15.80 0.00 0.00 0.00 15.80 13.50 8.90 14062 15.80 0.00 0.00 0.00 15.80 3.00 4219 6.10 62.41 0.00 0.00 0.00
+19.7 3.90 0.00 0.00 0.00 3.90 16.10 14.80 57.72 3.90 0.00 0.00 0.00 390 3.00 11.70 7.30 26.13 0.00 0.00 0.00
+45.0 25.30 47.20 23.60 597.08 25.30 110 8.60 217.58 25.30 9.70 4.85 122.71 25.30 3.00 75.90 0.00 92.35 0.00 0.00 0.00
+65.9 20.90 60.00 53.60 1,120.24 20.90 12.30 6.70 140.03 20.90 13.70 11.70 244.53 20.90 3.00 62.70 3.20 3344 8.90 445 93.01
+83.3 17.40 122.90 91.45 1,591.23 17.40 0.70 6.50 113.10 17.40 17.30 15.50 269.70 17.40 3.00 52.20 1.60 41.76 13.30 11.10 193.14
+105.3 22,00 139.00 130.95 2,880.90 22.00 9.10 490 107.80 22,00 21.30 19.30 424.60 22,00 3.00 66.00 5.00 72.60 16.20 1475 324.50
nE 6,189.45 776.85 1,061.54 310.69 328.69 610.65
& & 32,988.63 1,.275.64 3,676.10 883.82 491.68 4,159.60
Bi#sE 32,988.63 + 1.25 = 26,390.90
S=1/50
B g toenpl (i) e

SMBRT  L=88.00m x 3E% = 264. 00m (Fhi&#t : BR)

Bars)—+r 88.00x1.45%0.15 = 19. 14m3

¥ LERER 88.00x0.15%2.0 = 26.40m2

R3MET SM&EMZT 132.00m (hzE# : ER)
R3MEL #Hary')—*k 9.60m3
R3MT ) LERIZ 13.20m2

£ 4. Om(FEHE)
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BA RO# 10 0cm
E& 4.00m (fEHE) 12,57
SRR e LB #12 3. Okg
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